3 (Sem-3) PSC M 2

2019

POLITICAL SCIENCE
( Major )

Paper : 3.2

( Public Administration )

Full Marks : 80 ;
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

©o7© frATCas ot oeq for :

(a) Write a major disadvantage of
Independent Regulatory Commission’.

“yog foRE S’ b1 2y S e |
() Write a major advantage Of
decentralization.
fReealeeR o1 24 e o= |
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Which of the following concepts is
not associated with the ‘New Public
Management’?

( Catalytic Government/Centralized
Government/Competitive Govern-
ment )

(Choose the correct answer)

Ced FFCHl 41 9 (S -IRZIAAIS 57'Co
HBO 72 ?

( SERDF DI/ PAIFO b /AfScifrer-

TP 0P )

(8% T&ICo1 MR Sferear)

What is ‘Unity of Command’?
SeeR 9 2

What is Line Agency?

PRI} (oM 2

Which of the following concepts is not
related to New Public Administration’?
( Social equity/Relevance/Seniority

5 principle )

(Choose the correct answer)

(9)

(h)

(R

The Theory of Social and Economic
Organization is authored by

( Herbert Simon/Max Weber/
M. P. Follett )

(Choose the correct answer)

The Theory of Social and Economic
Organization &= 36+ SR

( 2 SR/ T3 SRR /<. . FCEAD)

(% Secr MR Tfepen)

Who edited the book, Toward a New

Public Administration : The Minnowbrook
Perspective?

( Dwight Waldo/W. F. Willowghby/

' Frank Marini )

(Choose the correct answer)

Toward a New Public Administration :
The Minnowbrook Perspective 2834 (FICH
SR PRIRE 2

( 25 q1Cel /oS, @, STee /@i TRl )

(% Teaeo! AIfz Sfee)
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2.
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(4)

() Write an advantage of ‘Public
Corporation’.
IR A’ o1 3 foran |

Answer the following questions : 2x5=10

Ood SPPTYR Ted fope

(@) What is ‘Community-owned Government’
in the concept of New Public
Management?

TP TR -ITZIR {HT® T SR 537
%2

(b) Write a brief note on ‘scope of Public
Administration’.
‘EIF-2PPE PR’ @RS @Bl 5T GBR
fera |

(c) Write two merits of hierarchy.

St e w51 @9 foi1 |

(d) Write any two principles of ‘coordination’.

e’ R e o1 S fora o

(e) What is Technical Staff Agency? Write
one major function of Technical Staff
Agency.

TR T2ES G 2 FRSA STEEe 6]
@07 241 R o |

( Continued )

(S)

3. Answer in brief (any four) :

59 &eq foran (R creen wif<on)

(a) What is ‘Independent Regulatory
Commission’? What are its advantages?

“yog frREe S & 2 R R & /2

(b) Give a suitable definition of “Public
Administration’. Briefly explain its
importance.

T~ Bl SR FReE A 4T | RS
GFg ST I A1

(0 What is
Explain.

e-gRee we’ R 2 4o 1 |

‘Legal-Rational Authority’?

(d) Explain the main features of hierarchical
structure. ¥

ST A 3 CaRErTR 9o

(e) What is the necessity of span of control?
Find out the role of personality in span
of control.

g -k daee 2 fRagw «RiEe
e sz ke[ 341 |
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4. Answer the following Questions :

20A/60

(6 )

10x4%40
Soq 2T O8] fed

(a) What is departmenty Why are
depa}-tfnent§ Mportant in  Public
Administration? Give reasons. 3+7=10

SRR T e e

Or / 139y

What are the _different kinds of the Chief
Executive? Discuss the qualities of the
Chief Executive, 4+6=10

34 SRR [T o
S

(b) Discuss the Scientific Management
Theory of Administration. What are its
drawbacks? 6+4=10

WWWWMWW;
4 TR @ %2
Or / 1331

Discuss the importance of human
relations theory. What are the findings
of the Hawthorne experiments of
Elton Mayo? 5+5=10

THAT T OGT BTG SCESAl 91 | G

@8’y  Hawthorne  <Rpp-fseEf
FerreprR (¢ @2
( Continued )

(c)

(@

20A—10*/60

(7))

What is Good Governance? What are its
main features? Discuss the importance

of ‘transparency’ in public administra-
tion. 2+2+6=10
$rrE 2 WR T @fEerER R &2
F-2MPe 9529l (transparency)d 399
S[CeeT ¢ 41 |

Or / w1331

What is ‘politics-administration
dichotomy’? Discuss the evolution of
public administration as a discipline.
What is its present status? 2+6+2=10
reafe-eprEe fB-Reme &2 s {9
Ro1A AGANS RS SRS SACEoAT P |

2 TG FH (2

What is supervision? Discuss the
methods of supervision. 4+6=10

el 6 2 AR SRR SIS B |

Or / 1341
What is centralization? Write the
advantages of centralization with
suitable examples. 2+8=10

a7 QR CReer T
SrzaepiR foa |
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